Stereometrie — télesa

Krychle

V -objem = @

S -povich= 6x(axa)
o -obvod podstavy =  4x*a



Kvadr

Strana c

V -objem = a*b*c
S -povich= 2x(axd)+2x(bxc)+2x(axc]
o -obvod podstavy = 2x(a+b)



Koule

Polomér r

V -objem = ‘;t_ﬁ*}ﬁ

S -povich= 45
o -obvod podstavy = 2 *r



Jehlan

Vyikav
Stranova vyska w
Stranova vyska wl

RNV U i
-~

V -objem = ;—[a*b]*v = ;—Spodﬂmyﬁw

CCEEM Chewli
S -povrch = 2*[.21 w]+2>1=, lid I+axbh = S plasté+ S podstavy
S -strana a= a’:w
S -strana b = bzwf

o -obvod podstavy —  2=x(a+b)



Komoly jehlan

Vyskavy
Strana a2

Stranova
vyskaw

Stranova
vyska wl

V -objem = 31*(a*b+-~;’(a*b]*(az*521+a2*b2j

S -povrch = 2%<[’La+a2]%<w]+2%<['[b+b2Jﬁ<w1]+aﬁ<b+a2ﬁ<b2
S -strana a = [,[aJ;aZJ%{wj
S -strana b = f[b+b2Jﬁ<wI}

o -obvod podstavy = 2x(a+b) -(spodni), 2x{a2+b2) -(vrchni)



Kuzel

Polomér r
Vyikav
strana kuielu s

V -objem = ;—?T*I'E*V = ;—Spodﬁrmfy*v

S -povrch = m*p*(r+s)
0 -obvod podstavy= 2Zmxr



Komoly kuzel

Polomér r
Polomér r2
Vyikav

Strana kuielu s

V -objem = ;—W ey &[T+ pRp2+12°)

S -povich=  mass(r+r2)+mar +msrd
S -plasté =  mrksx(r+r2)
S -podstav= mxs' -dolni; wxr2* -horni

o -obvod podstavy = 2w xr -(spodni); - 2mwxr2 -(vrchni)



Valec

Polomér r
Vyikav

V -objem = TR Ry

S -povrch = 2x(ms¢’ )+ 2msrsy = 2%8 podstavy+S pldsté
S -plasteé = 2mspky

S -jedna podstava = &5

o -obvod podstavy= 2 m=xr



